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5.1
52
53
54
5.5
5.6
5.7
5.8

6.1
6.2
6.3
6.4
6.5
6.6
6.7
6.8
6.9

7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8

8.1
8.2
8.3
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8.4
8.5
8.6
8.7
8.8

9.1
92
9.3
94
9.5
9.6

I ¢@¢ m m o O W >
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PH

PH

v

XX



GB/T 6903
GB/T 11076
GB/T 12148
GB/T 12149
GB/T 12156
GB/T13966
DL/T913
DL/T1029
JJG119
1JG291
JJG376
J1JG822

3.1

3.2

3.3

34

pH

pH

GB/T13966

error of indication

[ ]

fiducial error

M

M 1.00uS/cm

display devices fiducial error
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0.20pS/cm



3.5

3.6

3.7

3.8

39

3.10

3.11

3.12

3.13

3.14

3.15

DL/T XXXX—XXXX

temperature compensation additional error

stability

24h

repeatability

indication [of a measuring instrment]

sample line leakage additional error

conventional true value [of q quantity]

standard material

chemical instrument

operating error

true value [of q quantity]

Z€ro error
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4
4.1 DL/T913
1 3 4 6 8 10
4.2 DL/T1029
43
pH
pH
5
51
1
1
(7)) %FS +1 1 /12 Vv
(3g) %FS +1 1/ v
(At) £0.5 1 /12 — v
By x107%/10 +0.25 1 /12 Vv v
(By) %FS +0.25 1 /12 — Vv
(8c) %FS <0.25 ! — v
(Bw) x1072/24h <0.25 ! — v
Gp) % £] 2 — v
5 % +5 1 /12 — v
1
2
52
2
2

AC220V£22V ~ 50Hz+1Hz
10 40
30%RH 85%RH
0.098MPa  0.200MPa
5 40




53

5.3.1

532
533
534
5.3.5

5.3.6

5.3.7

54

5.4.1

542

543

+ 0.5%FS
0.1
0 ~50 0.1
+2 0 ~50
98%
1%
2%
A Al A2
0.30uS/cm
0.30uS/cm
1
! 0.20pS/cm
! 0.20pS/cm
15min
(K5) (K)
B.l
(1)
5o =250 1100%
M
Og—— FS
Ky— uS/cm
Ky,—— uS/cm
M— uS/cm

25 £2

(Kp)

(K5)

DL/T XXXX—XXXX

100uS/cm



B.2

0,——
Ky—
Ky——
M
55
5.5.1
5.5.1.1
5.5.1.2
0.1
0.01 0.1
4
3

DL/T XXXX—XXXX

I
| I
2
)
5, 5 7% 100% 2
M
FS
puS/cm
puS/cm (257C)
Al
uS/cm
0.30uS/cm 3
0.30uS/cm 4
Rx Rt
Rt 25
0.30uS/cm
3 Rx Rx
----- —T
Rx I
C
| |
|1
R, ! G, °
C,—5uF  C,—330pF Rx—100kQ
15min 3)
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Jx10°
R, = 3)
Ky
R,— Q
J — 1
K, uS/cm
Kg 4 B
B.3
S, = -5 %100% 4
P y— FS
Kg uS/cm
K — uS/cm
M— uS/cm
552
3 5.5.1
Kg 12h  24h Ks
Kgs (5) 6 B
B.3
St ks ~ x| x100% 5
Kq — K
Oy = Mx 100% 6
M
P — Sun Oun 107 /24h
553
3 5.5.1
(Ks ) 6 (7
B B.3
6 —_
Z(Ks ~Ks)’
5 — i=1 (7)
c 5M 2
Oc—— FS
Kg— i puS/cm
Kg—6 uS/cm
M— uS/cm
5.5.4
0.1 Rx Rt
3
J
Rt 25C 3 Rx



Ko

]_
B_
K_
t_
0, ——
K, —25C
Ky,—35C
M—

56

5.6.1

5.6.2

1x10*Q
Jy——
K'b—
G_

5.6.3

Rt

Jx10°

Ky
35°C

X T K+ B(t—25)]

puS/cm

0.30uS/cm

35C

Ky

0.1

100pS/cm

puS/cm

)

— Ky
—x100%
M

x107%/10
uS/cm
uS/cm

0.30uS/cm

0.30uS/cm

25 =2

B.S

10

11
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Rx
(8)
B B.4
0.1
5x10°Q
uS
(
‘]B
Ky
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Jy— cm’

Kp uS/cm

Kx uS/cm

Jg— cm’”
5.6.4

(12) B B.5
Jx =,
0p =——x100% 12
Jg

Op—— %

Jy— cm’!

Jg— cm’!
5.7
5.7.1

5 | 4 |T
I

Ky K,

572
(13) B B.6
K, — K
5, =—2—Lx100% 13 : ,
Ky

5 1

K,—— uS/cm s

K,—— uS/cm
5.8

ty tg 14 B B.6
At =t, -1, 14

At——
6 pH
6.1

pH 3
4
pH3 pHIO
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3
(8s) pH +0.05 11 Vv
(6g) pH +0.05 1 /1 v
(S) 0.03 ! — Vv
pH,  pH/ £0.01 2 — v
(AY) +0.5 1 /12 — v
(ApH) pH +0.03 1 /12 — v
pHz +0.01 1 /12 — v
pH, pH/ £0.01 2 — Vv
4
< 10kQ
+ 2mV/8h
/5min
Ry(MQ) 5 20 ) 100 250( )
PTS > 90%
1 i3
6.2
6.2.1 5
5
%RH
10~40 30~85 2542
6.2.2
6.3
6.3.1 pH C C.1
6.3.2 0.01 v
6.3.3 1x101Q
634 0.1



6.3.5 pH pH
6.3.6 2C 0C 50C
6.3.7 0C 100C

6.3.8 pH

a) pH

b) pH
c)

0.02

6.4

6.4.1
100uS/cm pH
100puS/cm pH

6.4.2

pH 0.02 .

6.4.3
pH6.864(25C)
pH4.003(25°C)

pH9.182(25°C)

(16) Se
55 = 5 - Bz
Os——
S— i
B,—pH pH
6.5
GHy 6
E E3
: )2
D (pH, — pH)
S— i=1
5
S
pH, — i

pH —6

10

16

15

a7
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D

(15)

(S),

(17)
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6.6
6.6.1
100uS/cm pH ,
pH
6.6.2
pH
t, pH, 10
pH t, le
(18) E E.4
H - pH
th — p | p J (18)
tz _tl
pH,—— pH/
pH,——
le—
t,—
t,—
6.6.3
6
25 pH
D D.3
11831mV 25 pH 9 PH,
35 -122.28mV 35 pH 9
pH, (18) E
E.5
6.6.4
ty ty
14
E E4 6
6.7
6.7.1 6 25
pH
7 pH 7
pH 19 :
( 7 -177.471mV
) 10) 100
6.7.2 pH 19
pH, pH 7 pH
118.3ImV -118.31mV pH 5.00 9.00
20) E E.S5
Es =K(pHp — pHp) 19
Es—— mV

11
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K— mV/pH D.3
pHy— pH
pH DT pH
ApH = pH; — pH, 20
ApH — i
pH, — i
A pH
6.8
| K |
| —@—-R --
| fmmmmm e l _ S Ru Rt
i ! R Ro
7
7
R ) 25 6.7.1
354.942mV( 6 pH) pH; K(
R) 354.942mV pH>
@n E E.5
H, — pH
pHR — p 1 p 2 21
2
pHg—
le_
pH, —
a)R 1GQ
b) 7 K 1x10"2Q
c)
ISFET pH
6.9
6.9.1
6.9.1.1
E E.6
6.9.1.2
25 2
2h 8h E
E.6
6.9.1.3
Smin

12
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E E.6
6.9.2
69.2.1
69.2.1.1
4 E E.7
69.2.1.2
24h 25C 27C
pH ( mV ) E, 300MQ
500MQ( 5 )
E, (22) E E.7
E -E
R, =——=xR 22
E2
Ry— MQ
E— mV
E,— mV
R— MQ
6.9.2.2
pH
(25 pH 4.003) pH (25 pH 9.182)
E, E, t (23) E
E.7
_ E, - E N 298.15 < 100% (23)
59.157 x (pH, — pH,) 273.15 +t
PTS——
pH,, E,— pH pH
mV
pH,,E,— pH pH
mV
t——
7
7.1
6
6
8,  %FS <10 1 3 ! v v
8 pNa/10C 0.05 2 — Vv
S 0.05 3 — Vv

13
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ApNa pNa 0.05 /12 — v
pNay Q >1x10" /12 — Vv
pNa,  pNa/10°C 0.05 2 — Vv
1
2
3
7.2
7
6
7
%RH
10~40 30~85
7.3
7.3.1 0.01 v
73.2 +10 1GQ 10GQ
733 0.1
7.3.4 1x10"Q
7.3.5 2C 0C 50C
7.3.60C 100C 0.1C
7.3.7pNa F F.1
7.3.8 C C2
7.4
7.4.1
100pg/L
100pg/L
742
g,
30min Cy 87 24
G G.1
|Cx —Ce |
0, =————x100% 24
M
S, —— %FS
Cx— ng/L
Ce— ng/L
M— pg/L
—p —

14
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7.4.3
10min pNad(1x10*mol//L)
pNas(1x10 mol//L) F Fl
Na Na
C, 8z 24
G G.1
75
7.4.3 6
S (25) G G.1
6
2. (PNa, — pNa)’
5=+ (25)
5
s
pNa—— i
pNa——=6
7.6
7.6.1
pNa5
25C2°7C pNa,
35°C 2T pNa,
(26) G G.1
0, = pNa, — pNa, (26)
7.6.2
6
25°C pNa
( pNa0 OmV “ K
pNa0 -354.94mV pNab)
pNa6( pNa0 -354.94mV) pNayg
15°C 15°C  pNa6 ( pNa0
-343.04mV) pNay; 35°C
35C  pNa6 ( pNa0 -366.84mV) pNay
(€X)) G G.2
pNa, = (pNa, — pNay,)/2 )
pNay 3 pNa
7.7
6
10min 25C 7.6.2
pNa3 pNa7 pNag
28 pNa
G G2
ApNa = pNag — pNag (28)
ApNa——

pNa; —pNa

15
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pNag—
7.8
7 K 25C 7.6.2
354.94mV
pNa, K pNa;
29) G G.3
N
pNa_R = ‘L‘ ‘R (29)
pNal - pNa2
pNa, — Q
pNa,
pNa, —
R—1GQ 10GQ
8
8.1
8
8
(87) %FS 10 1 /1 d
(8) pg/L <1.0 1 /12 ! d
&) 107% 1% 1 /12 ! — v
Gy % <1.0 1 /1 v v
(S) mglL <0.2 2 — 3
8.2
9
9
AC220V+22V  50Hz+1Hz
10 40

30%RH 85%RH

0.0IMPa 0.02MPa

5 40

16
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8.3
8.3.1 H
8.3.2
a) 5%FS
b) 0.5%
8.3.32¢g/L (Na,S0O3)+10mg/LCoCl, 1L
84
9
Ceo Cxo
10pg/L Ce
Cy, (30) 31 I I.1
ACZ(CM _CXO)_(CBI _CBO) (30)
AC
0, =——x100% 31
M

0,—— %FS

Cyo— ug/L

Cxi— ug/L

Coo— ng/L

Co— ng/L

M — ug/L

—> —>
9
85
2g/L (Na,;S0O5)+10mg/LCoCl,
Smin
() (32) I 1.2
S =| Cy | (32)
Sy— png/L
Cy— ng/L
8.6

17
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10ug/L
To Cxo
5 ~10 T
Cxi (33)
I L3
C, -C
Sy =—XL_ZXC__5100% (33)
Cyo x(T, =Ty)
5 —— 107/
Cyo— png/L
Cy,— ng/L
TO
T, —
8.7
6 34 I
1.4
S (34)
S—-
p— 1 mg/L
p—=6 mg/L
8.8
Cy, 50%
CXI
(35) I L5
C,,-C
5, = XL XLy 100% (35)
X0
5, — %
Cyo— ng/L

Cy,— ng/L

18
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9
9.1
10
10
(8:) %FS 1.0 1 /1 Vv Vv
(Bc)  %FS 0.5 1 /12 ! — Vv
) Smg/L < 2ug/L
30mg/L < 4ug/L
1
2
9.2
11
11
AC220V+22V 50Hz+1Hz
10 40
30%RH 85%RH
0.098MPa 0.2MPa
5 40
20mL/min  200mL/min
Sum
9.3
J
9.4
20min
40
20 (Bl)lh
(S) (36) o,
o, [s -8B (36)

19
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S, 20 ng/L
B— 20 ng/L
80 (By)lh (S,) G7)
%,
5,=S,-B, | G7
52_ 80 ng/L
B, 80 png/L
s, 80 ng/L
38 K K.1
o +0
5, _(6+3,) 2)><1oo% 38
2M
5,—— %FS
M—— g/l
9.5
40 6
(39) 9 K K.2
Oc = 39)
5(:_ ES
— 1 ng/L
Si_—¢ ng/L
M___ ug/L
9.6
500mL80 FS
10min 15min Cl
400mL 2mL 1000mg/L
10min  15min C,
200mL 5mL 1000mg/L
10min 15min C3
(40) (1) KooK3
K, =C,-C, (40)

(41)

20



10

Smg/L

30mg/L

21
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A
Al
GB/T6903
A2
Al
Al
C
pS/cm
105°C 2h
A 25 1408.8
KCl0.7440¢g 1L

B 100mL A IL 25 146.93
1 20°C£2°C
2
3 25C2°C +
4

22
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B
B.1
L/h Kb K M 9 d
puS/cm puS/cm uS/cm %FS
d¢ %FS
%RH
B.2
Ky Kj M 0z
uS/cm uS/cm uS/cm %FS
0: %FS
%RH AC \Y% Hz

23
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B.3
Ry 25 R¢ KL J Ks Jvy
0 uS/cm cm’! pS/em %FS
R K K K_
* - uS/cm S Jc
uS/cm
1 3 4 6 uS/cm
5 W MAX
Ry
uS/cm A4y A,
h Q K st K s Kss x 10%/12h | x 107%/24h
0
12
24
oY %FS
Jc
0w x 107%/24h
%RH AC \' Hz
BA4
25 35 M
Ky upS/cm Ky upS/cm uS/cm
Jy x 1010
%RH AC v Hz

24




B.5

DL/T XXXX—XXXX

Ky Jx
puS/cm K pS/cm em”!
‘]B JX
em’! Kp uS/cm Kx uS/cm cm’
Jx em’! 5D
%RH AC Hz
B.6
Kb Kz
L/h uS/cm uS/cm
1) %
J
tp tx
At
%RH

25




Cl pH
pH
2 pH
C.2
1
2

DL/T XXXX—XXXX

0.10uS/cm 1
pH 1 2
pH pH

10pg/L 0.5ng/L

26
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D
pH
D.1 pH
D.1.1 pH
pH
2uS/cm
a)0.05mol/L 54°C+3°C 4h  5h 12.61¢g
25°C 1L
b)25C 7g/L
25°C+3°C 20min  30min
¢)0.05mol/L 115°C+5C 2h 3h 10.12¢g
25°C 1L
d) 0.025mol/L 0.025mol/L
115C+5C 2h 3h 3.533¢g 3.338¢g
1L
e) II 0.03043mol/L 0.008695mol/L
115°C+5C 2h 3h 4.303¢g 1.179¢g
IL
£)0.01mol/L 3.8g 25°C 1L
g) 25C 2¢/L
25°C+3°C 20min  30min
D.1.2 pH pHs D.1
D.1 pH pHs
pHs
a b c d e f g
15 1.673 — 3.996 6.898 7.445 9.276 12.820
20 1.676 — 3.998 6.879 7.426 9.226 12.637
25 1.680 3.559 4.003 6.864 7.409 9.182 12.460
30 1.684 3.551 4.010 6.852 7.395 9.142 12.292
35 — — 4.02 6.84 — 9.11 —
D.2 pH
a)D.1.11) g)
b) D.1.1b) lg/L
c)pH

27
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D3 O 60 K D.2

K=In10x8.31433x(t+273.15) x10°/96487 (D1)

K— mV/pH

t—

D20 60 K
, K mV/pH , K mV/pH
0 54.197 35 61.141
55.189 38 61.737

10 56.181 40 62.133
15 57.173 45 63.126
20 58.165 50 64.118
25 59.157 55 65.110
30 60.149 60 66.102

28




DL/T XXXX—XXXX

E
pH
E.1l pH
pH
L/h da
pH B pH pH
g
E.2 pH
pH
S Js
pH, B, oH oH

1

2

3

o S max
E.3 pH
pH
B, pHi pH oH
pH 1 2 5 6
S
%RH AC A\ Hz

29
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E.4 pH
pH
tl pH tz pH
pH; pH;
pH, pH/
tB tX
At
%RH AC v Hz
E5 pH
pH K Es pH pH;, oH
pHp mV/pH mV pHg
1 59.157
2
pH max
Rt K ES
pH
Q mV/pH mV pH; pH
25 59.157 —
35 61.141 —
pH; pH/
R R R -pH, H
MQ mV pH, 1 2 3 PH:
pHR pH
%RH AC \% Hz

30
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E.6
KCl
mol/L
kQ
mV/8h
min
E.7
R MQ E1 mV Ez mV RN MQ
pH, pH, t PTS
pH E, mV pH E, mV %
Ry MQ PTS %
%RH AC \'% HZ

31
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F
F.1
F.11 450°C 110°C
0.1uS/cm 0.2pg/L
F.12
F.13
F.1.3.1 1.0mol/L 58.443g 1L 25°C
F.1.3.2 0.1mol/L 5.844¢ 1L 25°C
F.1.3.3 0.01mol/L 0.584¢ 1L 25°C
F.1.3.4 0.001mol/L 100ml0.01mol/L 1L 25°C
F.1.3.51x10% 1x10° 1x10° mol/L
F.14
1.0mol/L  0.1mol/L  0.0lmol/L  0.001mol/L
1 1x10*mol/L  1x10”mol/L  1x10° mol/L
F.15 pH H
F.1.6 pNa F.1
F.1 pNa
pNa 0.157 1.106 2.044 3.015
Na mol/L 1.0 0.1 0.01 0.001
g/L 22.99 2.30 0.23 2.299x10
pNa 4.005 5.00 6.00 7.00
Na mol/L 1x10* 1x10” 13107 1x107
g/L 2.299%107 2.299x10™ 2.299x107 2.299x10°
F.2 pNa
pNa4 pNa7 F1
Cna 10™%x22.99x10° Fl
Cna—Na” ng/L

32
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F.3 pNa F.2 F.3
F2 25 pNa
pNa 1.00 2.00 3.00 3.20 3.40 3.60
mV 59.16 118.31 177.47 189.30 201.13 212.96
pNa 4.00 5.00 6.00 7.00 8.00 9.00
mV | 236.63 295.78 354.94 414.10 473.26 532.41
F.3 pNa6
Rt 5 10 15 20 25
mV 331.13 337.09 343.04 348.99 354.94
Rt 30 35 40 45 50
mV 360.89 366.85 372.80 378.76 384.71
Rt 55 60 65 70 75
mV 390.66 396.61 402.56 408.52 414.47
Rt 80 85 90 95 100
mV 420.42 426.37 432.32 438.28 444.23

33
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G
Gl
Na'
pg/L ng/L 07 %
oz %
pNa;
— S
ug/L 1 2 3 4 5 6 pNa
S
pNa, pNa,
Ot /10
%RH AC \Y% HZ
G2
pNag pNa
Q pNap
mV pNa pg/L pNa ng/L
25
pNap pNa
Na Na g
Q mV pNa il il pNa
pNa pg/L pNa pg/L
25 — — —
15 — —
35 — —
pNa pNat max /10
%RH AC \% Hz

34



G3

DL/T XXXX—XXXX

25

mV

MQ

pNa g
MQ

pNay

pNay

pNa

MQ

%RH

AC

35



Qw(ml/min)
Qw

H
H
3ug/L
Cp(ng/L) Qp(ml/min)
AC
AC=Cpy —C, = i,
Qp
png/L
ng/L
ng/L
ml/min
ml/min
ng/L
1Y = 2

36
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2
Ca(pg/l)

Qp
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.1
pg/L ng/L M 07z
mL/min Cao Cyo Ce, Cy, ng/L %FS

0z %FS

%RH AC A% Hz
1.2
min
ng/L
50 ng/L
1.3
mL/min

To Cxo pg/L Tl Cx1 ng/L

07 107/

%RH AC A% HZ

37
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mg/L

mg/L

Pi

l

mg/L

mg/L

%RH

AC \Y

mL/min

ng/L

mL/min

ng/L

S

%

38
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270

J
J.1 100mg/L(1mL  0.1mgSi0,)S O,
0.1000g 700 ~800 1.0g~1.5g
~300
900 ~950 30min
IL
J.2
J.2.1 50mg/L (1mL 0.05mgSi0;) 100mg/LSiO, 50mL
100mL
J.2.2 Img/L (ImL  1pugSiO,) ImL 50mg/LSi0,
50mL
J.3 100pg/L
J.1 Img/L (ImL  1pgSiO,)
50.0mL 25 %5
J1 Oug~100ugSio,
mL 0.0 1.0 2.0 3.0 4.0 5.0
mL 50.0 49.0 48.0 47.0 46.0 45.0
SiO, ug/L 0.0 20.0 40.0 60.0 80.0 100.0
J4 Opg/L ~500ng/L SIO,
J4al 100mL 10mg/LSiO, 10mL (100mg/LSiO,)
100mL
J4.2 J12 (10mg/LSiO;) 1mL
50.0mL 25 %5
J2 Opg~500ugSiO,
mL 0.00 0.50 1.00 1.50 2.00 2.50
mL 50.0 49.5 49.0 48.5 48.0 47.5
SiO, ng/L 0.00 100.00 200.00 300.00 400.00 500.00
0.00
J5
J51 1+1
1+1

J5.2

39
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K
K.l
B pg/L S png/L 3, 3
B, B, S S, pg/L pg/L pg/L
0z %FS
%RH AC \Y% Hz
K.2
D/M h /L i
min ng M pg/L ng/L ug/L
¢
%RH AC \ Hz
ug/L Ky Kz
mL mL Cl | Smg/L C2 | 30mg/L C3 ng/L ng/L
500 0 — —
400 2 — —
200 5 — —
Ku = pg/L K = ng/L
%RH AC \Y Hz

40




L.1
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DL/T 677
JJG 376
DL

1 oz %FS
2 (9] %FS
3 At
4 Jt 1010
5 oy %FS
6 dc %FS
7 J. x 10%/24h
8 J, %
9 3 %
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%RH



DL/T XXXX—XXXX

L.2 pH
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DL/T XXXX—XXXX

pH
GBI/T 11076 pH
DL/T 677
JIG 119 pH
DL

1 Js pH
2 e pH
3 S
4 pH; pH/
5 At
6 A pH pH
7 pHR pH
8 pH; pH/

RN Q
9

PTS %

MQ
10 mV/8h
5min
%RH
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L.3
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DL/T XXXX—XXXX



DL/T XXXX—XXXX

GBIT 12156

DL/T 677

JJG 822

DL
1 Sz %FS
2 8, pNa/10
3 S
4 pNa
5 pNag Q
6 pNa, pNa/10
%RH
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L.4
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DL/T XXXX—XXXX



DL/T XXXX—XXXX

1
DL/T 677
JJG 291
2
3
DL
1 0y %FS
3 O x107%/
4 S mg/L
5 JL %
4
%RH
5
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L.5
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DL/T XXXX—XXXX



DL/T XXXX—XXXX

1
GB/T 12148
GB/T 12149
DL/T 677
2
3
DL
1 0z %FS
2 Jdc %FS
3 ng/L
4
%RH
5
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